

1. (1) [1] $\boxed{3.043}$ [2] $\boxed{3.007}$ [3] $\boxed{13.362}$

[4] $\boxed{1.833}$ (2点)

(2) X, Y は互いに独立. $E[X] = 1 \times \frac{1}{2} + 2 \times \frac{1}{6} + 3 \times \frac{1}{3} = \frac{5}{2}$

$E[Y] = 2 \times \frac{1}{2} + 3 \times \frac{1}{6} + 4 \times \frac{1}{3} = \frac{7}{2}$

[1] $E[Z] = E[XY] = E[X]E[Y] = \frac{5}{2} \times \frac{7}{2} = \frac{35}{4}$

[2] X^2, Y^2 は互いに独立. $E[X^2] = 1^2 \times \frac{1}{2} + 2^2 \times \frac{1}{6} + 3^2 \times \frac{1}{3} = \frac{17}{2}$

$E[Y^2] = 4 \times \frac{1}{2} + 9 \times \frac{1}{6} + 16 \times \frac{1}{3} = \frac{17}{2}$

$\therefore E[Z^2] = E[X^2Y^2] = E[X^2]E[Y^2] = \frac{49}{2}$

[3] $V[Z] = E[Z^2] - (E[Z])^2 = \frac{49}{2} - \left(\frac{35}{4}\right)^2 = \frac{121}{48}$

[4] X, Y は互いに独立. $\text{Cov}[X, Y] = 0$ (4点)

(3) [1] $E[X_n] = \frac{1}{13}(1+2+\dots+13) = \frac{1}{13} \times \frac{1}{2} \times 13 \times 14 = 7$

[2] $E[X_n^2] = \frac{1}{13}(1^2+2^2+\dots+13^2) = \frac{1}{13} \times \frac{1}{6} \times 13 \times 14 \times 27 = 63$

$\therefore V[X_n] = 63 - 7^2 = 14$

[3] $E[\bar{X}] = E[X_n] = 7$

[4] $V[\bar{X}] = \frac{1}{39} V[X_n] = \frac{14}{39}$

(4) $E[X] = 8 \cdot \frac{1}{2} = 4$, $E[Y] = 12 \cdot \frac{3}{4} = 9$

$V[X] = 8 \cdot \frac{1}{2} \cdot \frac{1}{2} = 2$, $V[Y] = 12 \cdot \frac{3}{4} \cdot \frac{1}{4} = \frac{9}{4}$

$E[Z] = E[X] - E[Y] = 4 - 9 = -5$

$V[Z] = V[X] + V[Y] = 2 + \frac{9}{4} = \frac{17}{4}$

$E[W] = E[XY] = E[X]E[Y] = 36$ (4点)

2. $P(W=m) = P(X+Y+Z=m) = \sum_{k=0}^m P(X+Y=k, Z=m-k)$

$= \sum_{k=0}^m \sum_{l=0}^k P(X=l)P(Y=k-l)P(Z=m-k)$

$= \sum_{k=0}^m \sum_{l=0}^k e^{-\lambda} \frac{\lambda^l}{l!} e^{-\mu} \frac{\mu^{k-l}}{(k-l)!} e^{-\nu} \frac{\nu^{m-k}}{(m-k)!}$

$= e^{-(\lambda+\mu+\nu)} \sum_{k=0}^m \frac{\nu^{m-k}}{(m-k)!} \left(\sum_{l=0}^k \frac{1}{l!} \lambda^l \mu^{k-l} \right)$

$= e^{-(\lambda+\mu+\nu)} \sum_{k=0}^m \frac{1}{k!(m-k)!} \nu^{m-k} (\lambda+\mu)^k$

$= e^{-(\lambda+\mu+\nu)} \sum_{k=0}^m \frac{1}{m!} m C_k \nu^{m-k} (\lambda+\mu)^k = e^{-(\lambda+\mu+\nu)} \frac{(\lambda+\mu+\nu)^m}{m!}$

したがって $P_0(\lambda+\mu+\nu) = \frac{1}{m!}$ (7点)

3. (1) $k \geq 0$ のとき $\int_0^3 \int_0^3 kxy dx dy = k \left(\int_0^3 x dx \right)^2 = \frac{81}{4} k = 1$

$\therefore k = \frac{4}{81}$

(2) $x < 0, x > 3$ のとき $f_1(x) = 0, 0 \leq x \leq 3$ のとき

$f_1(x) = \frac{4}{81} \int_0^3 xy dy = \frac{4}{81} x \left[\frac{1}{2} y^2 \right]_0^3 = \frac{2}{9} x$

$\therefore f_1(x) = \begin{cases} \frac{2}{9} x & (0 \leq x \leq 3) \\ 0 & (x < 0, x > 3) \end{cases}$ (3点)

(3) $P(X \leq 1, Y \geq 1) = \int_0^1 \int_1^3 \frac{4}{81} xy dy dx = \frac{4}{81} \left(\int_0^1 x dx \right) \left(\int_1^3 y dy \right)$

$= \frac{4}{81} \left[\frac{1}{2} x^2 \right]_0^1 \cdot \left[\frac{1}{2} y^2 \right]_1^3 = \frac{8}{81}$

4. $E[T] = 0$ のとき $V[T] = E[T^2] = 2C \int_0^{\infty} t^2 \left(1 + \frac{t^2}{m}\right)^{-\frac{m+1}{2}} dt$

$(C = \frac{1}{\sqrt{m} B(\frac{m}{2}, \frac{1}{2})})$ とおき $u = \frac{m}{t^2+m}$ と置換する

$t^2 = m u^{-1} (1-u), \left(1 + \frac{t^2}{m}\right)^{-\frac{m+1}{2}} = u^{\frac{m+1}{2}}, dt = -\frac{\sqrt{m}}{2} u^{-\frac{3}{2}} (1-u)^{-\frac{1}{2}} du$

したがって $V[T] = 2C \frac{\sqrt{m}}{2} \int_0^1 u^{\frac{m}{2}-1} (1-u)^{\frac{3}{2}-1} du$

$= \frac{m}{B(\frac{m}{2}, \frac{1}{2})} B\left(\frac{m}{2}-1, \frac{3}{2}\right) = m \frac{\Gamma(\frac{m+1}{2})}{\Gamma(\frac{m}{2}) \Gamma(\frac{1}{2})} \frac{\Gamma(\frac{m}{2}-1) \Gamma(\frac{3}{2})}{\Gamma(\frac{m+1}{2})}$

$= m \frac{\Gamma(\frac{m}{2}-1) \cdot \frac{1}{2} \Gamma(\frac{1}{2})}{(\frac{m}{2}-1) \Gamma(\frac{m}{2}-1) \Gamma(\frac{1}{2})} = \frac{m}{m-2}$ (7点)